## IN THE UNITED STATES BANKRUPTCY COURT FOR THE NORTHERN DISTRICT OF ILLINOIS SEASTERN DIVISION

EASTERN DIVISION	
) Chapter 11	ST. C.
) Case No. 02-4967	12 TO THE LEGISLE
) (Jointly Administ	cred)
	) Chapter 11 ) Case No. 02-4967 )

## COVER SHEET FOR NINTH INTERIM AND FINAL APPLICATION OF BAKER & DANIELS FOR COMPENSATION AND REIMBURSEMENT OF EXPENSES AS SPECIAL CORPORATE AND CONFLICTS COUNSEL FOR THE HOLDING COMPANY DEBTORS

Name of Applicant: Baker & Daniels

Authorized to Provide Professional Services to: Conseco, Inc.

Date of Order Authorizing Employment: <u>January 14, 2003</u>

Period for Which Compensation is Sought: From August 1, 2003 through September 9,

2003, on an interim basis, and December 17, 2002 through September 9, 2003, on a final

basis

Amount of Fees Sought: \$225,449.50 on an interim basis and final

allowance of all fees applied for

Amount of Expense Reimbursement Sought: \$2,247.44 on an interim basis and final

allowance of all expenses applied for

This is an: Interim Application X

Final Application X

The Debtors are the following entities: Conseco, Inc., CIHC, Incorporated, CTIHC, Inc., Partners Health Group, Inc., Conseco Finance Corp., and Conseco Finance Servicing Corp.

If this is *not* the first application filed herein by this professional, disclose as to all prior fee applications:

		Total Requested		Any Amount
Date Filed	Period Covered	(Fees and Expenses)	Total Allowed	Ordered Withhold
01/29/03	December 17, 2002 through December	\$10,444.83		
	31, 2002			
02/25/03	January 1, 2003 through January 31, 2003	\$19,339.94		
03/25/03	February 1, 2003 through February 28, 2003	\$13,061.32		
04/25/03	March 1, 2003 through March 31, 2003	\$14,776.58		
05/15/03	December 17, 2002 through March 31, 2003	\$63,618.72 (quarterly fees and expenses)		
05/27/03	April 1, 2003 through April 30, 2003	\$37,663.44		
06/25/03	May 1, 2003 through May 31, 2003	\$20,733.88		
07/25/03	June 1, 2003 through June 30, 2003	\$2,544.90		
08/14/03	April 1, 2003 through June 30, 2003	\$67,505.97 (quarterly fees and expenses)		
08/27/03	July 1, 2003 through July 31, 2003	\$2,509.37		

## RESTRUCTURING

Attorney/Paralegal Name	Hours	Rate	Total Fee
James M. Carr	1.6	\$380.00	\$608.00
Joseph H. Yeager, Jr.	1.9	\$350.00	\$665.00
Rebecca A. Richardson	0.5	\$305.00	\$152.50
Suzette E. Bewley	12.6	\$195.00	\$2,457.00
Sarah B. Laughlin	21.3	\$115.00	\$2,449.50
Ginger M. Rezy	2.7	\$140.00	\$378.00
Scott M. Kosnoff	7.7	\$345.00	\$2,656.50
Tibor D. Klopfer	1.9	\$395.00	\$750.50
TOTALS	50.2		\$10,117.00

## CIG: General

Attorney/Paralegal Name	Hours	Rate	Total Fee
James A. Aschleman	0.3	\$395.00	\$118.50
Tibor D. Klopfer	157.1	\$395.00	\$62,054.50
Theodore J. Esping	3.6	\$345.00	\$1,242.00
Scott M. Kosnoff	27.3	\$345.00	\$9,418.50
Jeffrey M. Stautz	167.6	\$345.00	\$57,822.00
Adam B. Hirschfeld	24.2	\$250.00	\$6,050.00
Marc J. Moss	231.8	\$175.00	\$40,565.00
Jennifer L. Hatchett	103.2	\$140.00	\$14,448.00
Sara K. Manske	131.1	\$140.00	\$18,354.00
Ginger M. Rezy	36	\$140.00	\$5,040.00
Howard E. Trivers	2.3	\$75.00	\$172.50
Constance Matts	0.5	\$95.00	\$47.50
TOTALS	885.0		\$215,332.50

James A. Aschleman has been licensed to practice law in the State of Indiana since 1969.

Tibor D. Klopfer has been licensed to practice law in the State of Indiana since 1979.

James M. Carr has been licensed to practice law in the State of Indiana since 1975. He is admitted to practice law in the following courts: United States Supreme Court; United States Court of Appeals, Seventh Circuit; United States District Courts for the Northern and Southern Districts of Indiana; and State Courts of Indiana.

Joseph H. Yeager, Jr. has been licensed to practice law in the State of Indiana since 1983. He is admitted to practice law in the following courts: United States District Courts for the Northern and Southern Districts of Indiana; United States District Court for the District of

Colorado; United States Court of Appeals for the Seventh Circuit; United States Court of Appeals for the Fifth Circuit; and the United States Supreme Court.

Theodore J. Esping has been licensed to practice law in the State of Indiana since 1978 and the State of New York since 1975.

Scott M. Kosnoff has been licensed to practice law in the State of Indiana since 1988. He is admitted to practice law in the United States District Court for the Southern District of Indiana.

Jeffrey M. Stautz has been licensed to practice law in the State of Indiana since 1983.

Rebecca A. Richardson has been licensed to practice law in the State of Indiana since 1982. She is admitted to practice law in the following courts: United States District Courts for the Northern and Southern Districts of Indiana; and State Courts of Indiana.

Adam B. Hirschfeld has been licensed to practice law in the State of Indiana since 2000, the State of North Carolina since 1997 and the State of Illinois since 1994.

Suzette E. Bewley has been licensed to practice law in the State of Indiana since 1998. She is admitted to practice law in the United States District Courts for the Northern and Southern Districts of Indiana.

Marc J. Moss has been licensed to practice law in the State of Indiana since 2000. He is admitted to practice law in the United States District Court for the Southern District of Indiana.

Sara K. Manske has been licensed to practice law in the State of Indiana since 2002.

Date: October 8, 2003

Applicant: <u>Paker & Daniels</u>

n ma an